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Al 105,000
402 2IZtA=01d 140,000 0 140,000
=S 35,000
Al 105,000
02 QI ZSASE X (0IE TR 140,000 0 140,000
ORE+0 B2 SUAANES HOI0E
£ 200,000, 000& *70% 140,000
< 35,000
Al 105,000
B 0iUX 2=(H+=2 SIEHE) 480,000 576,000 296,000
= 360,000
Al 120,000
403 MR HMSAHE01H 480,000 576,000 286,000
= 360,000
Al 120,000
02 SVI2S0 U H=E S A 480,000 576,000 296,000
OB HUX 23(H42 sIEHT)
600,000,000 *80% 480,000
= 360,000
Al 120,000
B A2 MAXZ(BEAR) HES X2 577,156 1,168,906 A591,750
= 577,156
201 =3 6,000 9,459 A3,459
= 6,000
01 AtR2t2|HI 6,000 9,459 A3,459
O 262 MAXR(HHEAZ) NES
Agae] & 2E 6,000,000 * 14 6,000
= 6,000
202 0o4dl 5,040 10,080 A\5,040
= 5,040
01 2LHoIH 5,040 10,080 /5,040
O 42 WATIH(HHEAMR) HE3
FE0o| 20,0003 6 42 5,040
= 5,040
301 LEIE NS 566,116 1,149,367 A583,251
= 566,116
14 0Bt 2a3 566,116 1,149,367 A583,251
OFSZ 242 MAKS(HIBAE) N2
566,116,000 x14] 566,116
= 566,116
TEE sAtE HAXR(BEAR) 2HES MAAS X 212,300 212,300 0
_C,";_]
301 EtE NS 212,300 212,300
14 0Bt 2a s 212,300 212,300
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S 270,000
Al 30,000
206 M=H| 300,000 300,000 0
== 270,000
Al 30,000
01 MHZHI 300,000 300,000 0
O==4tETt MY SFAIS
300,000,000 * 14 300,000
= 270,000
Al 30,000
ofla) Mabiet 2 (d&) 200,000 0 200,000
= 160,000
Al 40,000
403 AXIEHHSAH=201d 200,000 0 200,000
== 160,000
Al 40,000
02 SI12S0ItH et =& 2 €A | 200,000 0 200,000
Odtat a8 ZH AN
200,000,000& *14] 200,000
= 160,000
Al 40,000
ofla) M (e 306,250 306,250 0
= 245,000
Al 61,250
206 MH=H| 306,250 306,250 0
s 245,000
Al 61,250
01 M= HI 306,250 306,250 0
Odttar NEE At (=all R ES 30,6258 H
o8 306,250,000& x14] 306,250
& 245,000
Al 61,250
HiCte 22t 140,000 140,000 0
= 42,000
Al 98,000
308 AHAIEMSOIE 140,000 140,000 0
=S 42,000
Al 98,000
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| Al 98,000
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01 At22t2l] 1,500 5,600 24,100
Ogit==H| 600
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Ogx=z 900
olgk a8 FUSH &R 2O
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202 04| 1,680 3,700 22,020
01 SLHoIH 1,680 3,700 A2,020
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01 M= HI 300,000 300,000
OO0tS 2 HitH AZH ARG (=GR E S 60
,0008 3 &8 20,000,000 1504 2~ 300,000
0 AR =3 30,000 30,000 0
206 M=l 30,000 30,000
01 MZH| 30,000 30,000
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BILI=SE FAl2ic 30,875 35,875 /5,000
201 fer=2 3| 15,000 20,000 /5,000
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oHIIEE A KRB
15,000,000 * 14| 15,000
206 MH=Hl 15,875 15,875
01 MZH| 15,875 15,875
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402 2I2FXH=201H 51,937 50,000 1,937
< 15,581
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OFLAANEE ShSs
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Al 160,700
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= 200,000
Al 160,000
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OxE2elog s4 400,000, 000 *90% 360,000
= 200,000
Al 160,000
ANe2elHHSSH ARE XE 180,000 145,800 34,200
= 54,000
Al 126,000
307 @120l & 180,000 145,800 34,200
s 54,000
Al 126,000
02 LB MAHEE 180,000 145,800 34,200
OE2cIHLSSH M2E XA
200,000,000 *90% 180,000
& 54,000
Al 126,000
A 2 XIS 18,000 18,000 0
= 5,400
Al 12,600
402 2IZtA=01A 18,000 18,000 0
=S 5,400
Al 12,600
02 QIZEXHE AL E X (01 & THE) 18,000 18,000 0
Oald 2eJ €Xl X
30,000,000 *60% 18,000
< 5,400
Al 12,600
Jl=ds s &332 NHIA NS 20,000 20,000 0
= 3,000
Al 17,000
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ool s 2 (ol m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 540,000
02 QA AAEE X 720,000 720,000 0
Oom= zatd xXelkla
900,000, 000 #80% 720,000
= 180,000
Al 540,000
SARMS(IH2) el AlE X 1,350,000 1,350,000
402 QI+ X201 & 1,350,000 1,350,000
02 QI X2 AL E (01X THE) 1,350,000 1,350,000
O==4242(IH2) XMl Ald RIAR [202
3 TH| 360,00082 Za]
1,500,000, 000& *90% 1,350,000
2N FeHEE) 1,000,000 0 1,000,000
= 800,000
Al 200,000
401 Al HIZ R 0HHI 1,000,000 0 1,000,000
== 800,000
Al 200,000
01 Al&HI 977,100 0 977,100
LAIOIE HBH(SH RS 50,0088 ¥
&) (HEAY) 1,000,000,000& *97.71/100 977,100
= 800,000
Al 177,100
02 Z2lh| 16,600 0 16,600
OLAIE B3t =7 22/l
1,000,000,000& *1.66/100 16,600
03 Al 20HHI 6,300 0 6,300
OSA0Y Hat =& AIEFUHI
1,000,000,000& *0.63/100 6,300
SJtAkel Al 24,000 24,000 0
= 7,200
Al 16,800
307 el2to| & 24,000 24,000 0
= 7,200
Al 16,800
02 QItEHAEE X 24,000 24,000 0
OZJtAtel A 24,000,000 *14! 24,000
== 7,200
Al 16,800
AT 2579 2t 6,600 3,500 3,100
201 Ler23 | 5,000 1,500 3,500
2 352484l 5,000 1,500 3,500
OAlE &I Xl 5,000
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ol olgerd 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oA 2579 O HAIZ M%
5,000,000& 14 5,000
202 04dl 1,600 2,000 2400
01 2L AL 1,600 2,000 A400
OF¢HH 25719 AEfZAL 048I
20,0002 x5 162 1,600
MNEIEH 2Xx3 XI& 11,000 11,700 AT700
307 212+01& 11,000 11,700 AT700
02 2B HAHE L 11,000 11,700 AT700
O=JtAtel EXItel & SAg =582
= 4,000,000 +14] 4,000
O0==giet Hittate| Dl 23
3,500,000& %14 3,500
OBICHOIA slYE=E H=2tS0] 23
3,500,000 *14] 3,500
O o ofdsdsSazE T2HHE 20,000 0 20,000
307 lztol & 20,000 0 20,000
02 LB HAHE L 20,000 0 20,000
OO0z & ofrdt - Sa= &2 &
20,000,000& » 14 20,000
Ol Ao o 4,643,949 5,454,347 /810,398
= 1,492,240
= 579,940
Al 2,571,769
AATaH TIoHZA & HtRR2E I 10,770 20,780 210,010
201 Let=23 | 4,770 13,580 28,810
01 At2teltl 4,770 13,580 8,810
OXrATHoH o1& ( FAZS 7Y
1,000,0002 %14 1,000
Ogot 2] 23 Hes e
2,000,000& *14] 2,000
Odot K22 HII= Xl
354,000 +5& 1,770
202 04t 6,000 7,200 1,200
01 =LHOHI 6,000 7,200 1,200
OXtATHo O (=) Tich oilg & Toh=
At 20,0003 x38 50! 3,000
Odot fRey a=ol & 2
20,0003 38 50 3,000
SaltEel AlM SHsH RIR(HE) 210,000 560,000 A.350,000
= 105,000
Al 105,000
402 212t X+=01 ™ 210,000 560,000 /350,000
= 105,000
Al 105,000
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el O XHOH Ollet (CH9: &S1)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
02 QI X2 AL EE(OIETHE) 210,000 560,000 A350,000
Odllalot=el AlE siliat X2
300,000, 000& *70% 210,000
= 105,000
Al 105,000
IESRH 28 K& 1,750,000 2,100,000 A350,000
= 875,000
= 175,000
Al 700,000
307 gl2to| & 1,750,000 2,100,000 /350,000
= 875,000
= 175,000
Al 700,000
02 QI HAANEE X 1,750,000 2,100,000 A350,000
OolERE 22 X
2,500,000, 000& *70% 1,750,000
= 875,000
== 175,000
Al 700,000
AEIZ2E B2 HMel X 714,000 120,000 594,000
= 214,200
& 149,940
Al 349,860
201 er23 | 714,000 120,000 594,000
= 214,200
< 149,940
Al 349,860
01 At2t2lt] 714,000 120,000 594,000
OAEIZE RHE XMl X
714,000,000& x14] 714,000
= 214,200
== 149,940
Al 349,860
=MSE ZEHY WSS 678,080 588,160 89,920
= 339,040
Al 339,040
307 212t01™ 678,080 588,160 89,920
= 339,040
Al 339,040
02 QIS EX 678,080 588,160 89,920
O=tts2 202 B 55
1,130, 133,000 *60% 678,080
= 339,040
Al 339,040
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Rl OIS XHoH ol & EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
ealrpts MolE282 X2 500,000 1,000,000 A500,000

= 150,000
Al 350,000
307 212t01™ 500,000 1,000,000 A500,000
= 150,000
Al 360,000
06 283 500,000 1,000,000 500,000
OYALAE THLER X
500,000,000 *14] 500,000
== 150,000
Al 360,000
D=2 U2 X 72,000 70,000 2,000
= 64,000
Al 8,000
201 Ler23 | 40,000 40,000 0
= 32,000
Al 8,000
01 AtR2t2|HI 40,000 40,000 0
ogxtz (M) 40,000
o2 UHl Astitas 2Et
40,000,000& *14] 40,000
= 32,000
Al 8,000
307 212t01™ 32,000 30,000 2,000
= 32,000
02 QIHHAANGEE R 32,000 30,000 2,000
OLn=2 U] Hstats SS(5N) X2
32,000,000& *14] 32,000
= 32,000
236 29 709,09 955,407 A246,308
201 2= 709,09 955,407 A246,308
01 AtR2t2lt] 100,920 101,340 A420
Oget=ZHI 3,800
o3H HA HIIEA =8
600,000 x4 = x13] 2,400
ozl 2= JIIEAM =&
150,000& *4 = x12] 600
o3d B AU L HE S
50,0002 1674 800
Oo=g=¢g 87,120
o34 & - =AY 87,120
-3 60,0003 x3% %119 21,420
-=2 60,0003 x3%{ x365&! 65,700
Ooul =l 4,000
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cEEd a0 M= 4,000
&3 20,00021+16% 320
- perm 10,0002+ 162 2,080
- moi= 100,0002 162 1,600
o=z 6,000
cmBM 28 F A DA
500, 0002+ 122 6,000
® 2z 608, 179 854,067 245,888
oz222 2 HA 26,400
cBBM 2% M2, TNE, VANE S
2,200,000 122 26,400
OAEEHIR ] 75,000
o2TD 2 £1 75,000
SSXD AL Y RRE NN
20,000, 0002 +13] 20,000
SRXD 42 Y AB AE AT E
20,000,00021%13] 20,000
~=xD Hel DA
15,000, 00024 +14! 15,000
—SXD ofIE DA L HIIE M2
10,000,000 14} 10,000
—Em = A Y G
10,000,00024+13] 10,000
O - aoty 506,779
o HU5165(BHM) 142,441
~xoi2(AR)
1,40021+0. 112.4 +1,826HPx250A1 2+ 71,580
_éj-_,c_)r
14002150, 112 £ *1,826HP*250A1 2146, 6% 4725
SIS 10, 1752+1,626HP %.014
- AR 201, 81921425 5,046
- 4BE(E7H Ba)
13,00121:255 1,076
ST 2,500,00021523] 5,000
- SIS0 Y SA(QB BIRA, AT S)
20,000,00021%14! 20,000
o HL9195 (0| H T34 165,863
—xo2(2R)
1, 4002140, 112.4 *1, 440HP=250A1 2+ 56,448
~=8
1,40024+0. 112.4 +1, 440HP*250A1 246, 6% 3,726
SIS 19, 17581+1,440HP 27,612
S 192,089%1+1 15 22,001
- dBE(ERH =)
47 4715 5,491
I 5,500,00024+13] 5,500
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SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—SH0 X TA(QIT Bt 2E)
35,000,000 14! 35,000
oNMURIS(HEH ) 154,871
~Z=i2(2R)
1,4002%0. 112 4 *1,200HP*250 A1 2t 47,040
_él-_lcjr
1,40021%0. 112 £ *1,200HP*250 A1 2H6 . 6% 3,105
- J|2=X 19, 175&*1,200HP 23,010
s BN 192,089 *151& 29,006
-4BB(H7H TY)
47, 7473+151&8 7,210
&= 5,500,000 *13] 5,500
—HH0 & SA(QAE GIRA 2
40,000,0002 144 40,000
o HLgRS (HAH) 26,018
~Z=iR(2R)
1,400&*0. 112 £ *350HP*250 A1 2t 13,720
_él-_’Qr
1,400 *0. 112 £ *350HP*250A1 2++6. 6% 906
= J|&RX 16, 2203 *350HP+1CH 5,677
RPN ESIN 110,018&*21& 2,311
-4BB(H7H 28)
43,0013+21E 904
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—HHH0 Y SA(QAE GIRA, 2
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olQPD(HLE22s, HME2235) 7,581
ExabsI N1 1,000,000 *2X 2,000
- IR AL 1,500,002+ 3,000
—EHR(FH2LR)
1,600 *1600+23*90AI2H0. 112 4 2,581
HOLE 5} 4,295,254 4,760,055 A464,801
= 860,000
s 1,000,000
& 895,000
Al 1,540,254
ZEALE 29 Y 22| 105,254 100,055 5,19
101 el t| 32,174 31,797 377
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ONgE HAEIZE ZEANE 2Y 32,174
oQI29] 78,830& * 1B +52 x50 20,509
oxFaY 78,830 * 1B+ 1 x52= 4,102
oMEIZz BN
6,800 x 162 x52== 2,122
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O=g=g 1,800
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3 ?F B4 ¢
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308 XtXIEMSO0IE 25,000 25,000
1B IIERg=s 25,000 25,000
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401 AlZHIZ 2018 5,000 5,000
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OA+2 AIEE & lol €X
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oMl dAEoH EXI(HE) 160,000 160,000 0
[ 80,000
Al 80,000
401 Al HIZL 201 160,000 160,000 0
= 80,000
Al 80,000
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Odil Mgy da&otE EX
160,000,000 *14] 160,000
= 80,000
Al 80,000
= = MY D] 0H(HEH 630,000 800,000 A170,000
[ 315,000
Al 315,000
307 lztol & 630,000 800,000 A170,000
== 315,000
Al 315,000
05 2IMRIE =3 630,000 800,000 A170,000




S OfRM AL
B 25012 SH(SNSS/EHLEN - OfE)
ol HAotE st EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZE M| =)
630,000,000 x 14 630,000
= 315,000
Al 315,000
Ml HaHZS) 2,000,000 2,000,000 0
[ 1,000,000
= 500,000
Al 500,000
101 @124H| 933,140 903,646 29,4%
= 466,570
< 233,285
Al 233,285
M OIRIMZZ2NSE S 933,140 903,646 29,4%4
Ol &gyl &3t 933,140
oQI2Y 78,8802 *45E x5 L 325 567,936
[ 283,968
= 141,984
Al 141,984
oFFrY 78,8302 *45 & 1L +32%= 113,588
[ 56,794
= 28,397
Al 28,397
cRYIRLY
78,8803 *45% 8 + 150k 42,5%
[ 21,298
= 10,649
Al 10,649
oZtAH| 3, 0003 »45H +5& +325= 21,600
[ 10,800
= 5,400
Al 5,400
cuSH| 13,0002 x0Z=+5 2 x32= 18,720
[ 9,360
= 4,680
Al 4,680
oMeIEERE 161,950,000 *14] 161,950
[ 80,975
== 40,487
Al 40,488
o2t HNEH S 7Y
150,000 45 6,750
[ 3,375
= 1,688
Al 1,687




AT A
B 25012 SH(SNSS/EHLEN - OfE)
Chel: O1OHE 5 (19 @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
201 Let2| 1,051,860 1,081,344 AN29,494
= 525,930
T 262,965
Al 262,965
01 AlR22lH| 1,051,860 1,081,354 N29,494
SHEER=1] 96,260
oM £ 8F 7Y
74,348,000 3 x 14! 74,348
s 37,174
= 18,587
Al 18,587
oHJI= HMeltl 851,912,000 & 14! 851,912
s 425,956
= 212,978
Al 212,978
ogxz 125,600
o= &H| X 125,600,000 * 14 125,600
s 62,800
& 31,400
Al 31,400
202 04dl 15,000 15,000 0
= 7,500
& 3,750
Al 3,750
01 =WO4bI 15,000 15,000 0
OodfeMeD| AlEi=AL & 2=0|
20,0002 152 x50 15,000
s 7,500
= 3,750
Al 3,750
ot=GH M0l HSt 800,000 800,000 0
= 560,000
Al 240,000
101 @l24H| 364,197 352,398 11,79
= 254,938
Al 109,259
M IIZMZ22 NS Es 364,197 352,398 11,79
OJtEG M0 Hgt 364,197
ool 78,8303 *18H x5 x322= 227,175
= 159,022
Al 68,153
oFgg 78,8802 *18H 12 *32= 45,435
= 31,804




S OfRM AL
B 25012 SH(SNSS/EHLEN - OfE)
ol HAotE st EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 13,631
cBgResY
78,8802 x 18«82 x150fk 17,039
= 11,928
Al 5111
o2tAlH| 3,000 18 #52 «323= 8,640
= 6,048
Al 2,592
oARIEEE 63,208,000 * 14! 63,208
= 44,246
Al 18,962
22X AHHEY S PY
150,000 18 2,700
= 1,890
Al 810
201 er23| 420,803 432,602 A11,79
= 294,562
Al 126,241
01 AtR2te|HI 420,803 432,602 A11,799
Oget=EH| 390,803
oM =HES 7Y
24,000,000 * 14| 24,000
= 16,800
Al 7,200
oHlJl= Xl 366,803,000 * 14 366,803
= 256,762
Al 110,041
Oogxz 30,000
o= FHl AX= 30,000,000& * 14| 30,000
= 21,000
Al 9,000
202 0o4dl 15,000 15,000 0
= 10,500
Al 4,500
01 2K 15,000 15,000 0
O&HZAN & 25 X20| o]
20,0002 x15 x50 15,000
= 10,500
Al 4,500
BiCter 2 XIZ 0l XI& 200,000 500,000 A.300,000
= 100,000
Al 100,000
101 @124H| 186,696 408,010 N221,314
= 93,348




S OfRM AL
B 25012 SH(SNSS/EHLEN - OfE)
ol HAotE st EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 93,348
04 JIZtNZ22 XS 2+ 186,696 408,010 A221,314
Otttrad X1Z0l K& 186,696
Q12 78,8803 x0H x5 x32%= 113,588
= 56,794
Al 56,7%4
oFFd 78,8803 x0E x 12U #325= 22,718
= 11,359
Al 11,359
oxdI2RY 78,880 x0 & +8L *150% 8,520
= 4,260
Al 4,260
o2tAlH| 3,000 x9S +52x32= 4,320
= 2,160
Al 2,160
oMY E 5,000 x4 +52U »32= 3,200
= 1,600
Al 1,600
o S| 1,300& #4ZE x5 %32 832
= 416
Al 416
oMBIEER 32,168,000 * 14| 32,168
= 16,084
Al 16,084
o2t HYs, otNgt S 7Y
150,000 +9& 1,350
= 675
Al 675
201 Ler23 | 13,304 91,990 A\T78,686
= 6,652
Al 6,652
01 At2teltl 13,304 91,990 \T8,686
(@)= st =l 5,000
o E3 ¢ 5,000,000& *14] 5,000
= 2,500
Al 2,500
Oogxz 8,304
o= FHl AX= 8,304,000 * 14 8,304
= 4,152
Al 4,152
ot &Il XMel 400,000 400,000 0
= 200,000
Al 200,000




S OfRM AL
B 25012 SH(SNSS/EHLEN - OfE)
ol HAotE st EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
101 @124H| 202,332 193,510 8,822
= 101,166
Al 101,166
04 JIZtNZ22 XS24+ 202,332 193,510 8,822
Ogot+ M0| XMl 202,332
oQIfY 78,8803 x 10«62«32 126,208
= 63,104
Al 63,104
oFxFsd 78,8803 x10E « 1 x323= 25,242
= 12,621
Al 12,621
ogYRRay
78,8802 * 10 x82! x150f% 9,466
= 4,733
Al 4,733
o 2tAlH| 3,000 10 +52x32 4,800
= 2,400
Al 2,400
oMeIEER 35,116,000 & x 14! 35,116
= 17,558
Al 17,558
22Xt HEFH| 7Y
150,000 »10& 1,500
= 750
Al 750
201 er23 | 196,468 205,290 A8,822
= 98,234
Al 98,234
01 At2teltl 196,468 205,290 N8,822
=2 191,468
oHIIZ XMl 161,468,000 * 14! 161,468
= 80,734
Al 80,734
oxEF 7Y 30,000,000& *14{ 30,000
= 15,000
Al 15,000
Ogx=z 5,000
o==H &l St 5,000,000 * 14 5,000
= 2,500
Al 2,500
202 04| 1,200 1,200 0
= 600
Al 600




S OfRM AL
B 25012 SH(SNSS/EHLEN - OfE)
ol HAotE st EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 =WO4bI 1,200 1,200 0
OZot+ MHI| AEHZAF & 2= 0fH]
20,000 3«2 30! 1,200
= 600
Al 600
HH2AAHI( G M A (JIEHDIE) 91,615 100,49 A\8,880
ol 2| 32,136 31,39 737
ol 2| 32,136 31,39 737
101 @124 d| 32,136 31,39 737
03 BLH(PI|H )22 A4 2,13 31,399 787
OARRIeIRR4Y
15,9602 x4 H+20A| 2H+ 123 *150% 22,983
OFgIf=g 190,680 4 H 12 9,153
Jl2&l 59,479 69,096 AN9,617
J|=2Z&| 59,479 69,096 N9,617
201 Let23H| 46,240 56,362 A10,122
01 AtR2elt] 31,240 37,917 NB,677
OYuragY| ZUH|A
13,000,000 14! 13,000
O=ZtHl SHAHA 18,240,000 3 14| 18,240
02 SE==29| 15,000 18,445 A3,445
O=2322 % NAM S SHAH &
15,000,000 * 14! 15,000
202 0441 6,039 6,134 YAN®S)
01 =2LHO4 ] 6,039 6,134 A%
O3LH0H] SHH & 6,039,000 * 14| 6,039
203 PRF=&IY| 7,200 6,600 600
M RA2IHRFALI 7,200 6,600 600
OO A A H(3BY) 7,200
oI SUAE2(25Y) 350,000& =123 4,200
oZ2tZH(13Y) 250,000& =12 3,000




